aining blank pages.
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compulsorily draw diagonal cross lines on the rem

Important Note : 1. On completing your answers,

50, will be treated as malpractice.

appeal to evaluator and /or equations written eg,

2. Any revealing of identification,

USN

o> Bl

Se

" With diagram exp

Define an Operating System. What are the different facts ofi user convemence?
Explain Partition based and po"ol based resource allocation.
Explain time sharing operating system with respect to :

i) Scheduling 1ii) Memory Management.

Explain the followmg
i) Semantic gap< 11) Layered operating, system structure.
Compare Kernel based and Micro Kernel based OS functions.
Explain V1rtual Machlne Operating Systemn: [VMOS] with example.

anothet process. Describe all such situations.
An dpplication is to be coded using-threads. Describe
recommend use of i) Kernel level'threads 1) U
Explain the different status of process in UNIX O

Consider the pag > reference string | 2,
would access‘for the following page replacement pohcres assuming 3 frames?
1) FIFO ii) LRU.
Explam the 1mportant concept 1n the operatron of demand paging.

,,,,,,,,,,

;Descrlbe file syst  actions during a file operatlon

the workmg“ of

sharing system:*
Describe the shortest request next
policies and determine the average tum around time and weighted turn around ti
following set of process shown in the below table.

(CigProcesses | P | Py | Py
| Armrivaltime | 0 | 2 | 3 | 4 | 8

Servicetime | 3 | 3 | 5

(3]
(V8]

What is Mail bo ? Explam features and advantages.
Explain the anary issues in implementing message passmg
Explarn the Inter — process communication mechanisms in Unix OS.
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(06 Marks)
(06 Marks)

(08 Marks)
(08 Marks)

(06 Marks)
(06 Marks)

"atlons a change in the state of one process may cause a change in the state of

(08 Marks)

onditions under which you would

(06 Marks)
(06 Marks)

(06 M:;rks)
(08 Marks)
06 Marks)

1S 2 143, 5.46.2, 1.5 Howmanypagefaults

(08 Marks)
(12 Marks)

(08 Marks)
(08 Marks)
(04 Mérks)

a long, medium and short term scheduling in a trme

(10 Marks)

” [SRN] and highest response next [HRN] scheduhng
me for the

(10 Marks)
|

(08 Mérks)
(06 Marks)
(06 Marks)



